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Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.
. This paper consists of fifty (50) multiple choice type of questions. All questions are compulsory.
. At the commencement of examination, the question bookiet will be given to you. In the first 5 minutes, you are requested 1o open the

booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a bookiet without
sticker seal and do not accept an open booklet,

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
by a correct bookiet from the Invigilator within the period of 5 minutes. Afterwards, neither the Question Booklst will be replaced
nor any extra time will be given.

(iiiy After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet,

. Each item has four alternative responses marked (A}, (B}, (C) and (D). You have to darken the oval as indicated below on the correct

response against each item.
Example : &> € (© (B where (B} is the correct response,

. Your responses to the itemns are to be indicated on the OMR Answer Sheet under Paper — | only. If you mark your response at any

place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booidet.
. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the spacs

allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.

. You have to return the originai OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it

with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.
10.
11.
12.

Use of any calculator or any electronic devices or {og table etc., are prohibited.
Thare shall be no negative marking.
In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1. Match X with Y.
X Y
1. Proximics a. Use of touch
2. Kinesics b. Use of body
language
3. Haptics ¢. Use of space
(A) 1-¢, 2-b, 3-a
(B)1-a, 2-b, 3-c
(C)y1-b, 2-a, 3-c¢
D)y1-c, 2-a, 3-Db
2. Use of ‘space’ in communication is
called
(A) Proximics
{B) Chronomics
(C) Para language
(D) Haptics
3. The connotative meaning of a word is
(A) Subjective meaning
(B) Oppositive meaning
(C) Donotative meaning
(D) Real meaning
4. In the process of communication, the
receiver
(A) Encodes the message
(B) Decodes the message
(C) Is a channel
(D) Has no role
Paper —|

1. Xa Y W %S
X

Y

1. Wsflallsn a. uddell (@001
2. ggadlsu b wdldls slaeua

Guallat
3. gudlsu c. BicRell Gualol
(A 1-c, 2-b, 3-a
(B)1-a, 2-b, 3-¢
(Cy1-b, 2-a, 3-c¢
(D)1-¢, 2-a, 3-b

2. Yeldoldi wdRell GUllolel

g3l 8.
(A) Wslallsu

(B} Sl01su
(C) yadolay
(D) dlsu

3. oeoll AaAlas weui

(A) 5ol uiel
(B) @zt

(C) YR usd
(D) Wt wdal

4. YcAtlol B, 8652+ (Alar)

(A) e alej UisAs Fuidw
(B) ¥t ale] Juidet
(C) AcMl

(D) Sl otell
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5.

‘Demophobia’ refers to
(A) Fear of death

(B) Fear of crowd

(C) Fear of speaking

(D) Fear of failure

. Which of the following institutions
responsible for quality technical and
Management Higher Education in india ? -

(A) NCERT
(B) AICTE
(C) NCTE
(D) NIEPA

- ‘NAAC’ assessment cycle is for

(A) 3 years

(B) 5 years

(C) 10 years

(D) 7 years i

. The Nationa! Education Day in India is

celebrated every year on
(A) 14" November
(B) 5" September
(C) 11" November

(D) 2™ October

Paper - |

5. 3fclal YRAA 5B ¥

(A) Yeholl @
(B) ellsell e
(C) ollecllell e

(D) Qo acusll e

. o(lAeunigll s¢ el Ml

Jetariysd didls wa Aslyiez

G Q&g 12 wallolelR B ?
(A) NCERT

(B) AICTE
(C) NCTE
(D) NIEPA

. {(a18) NAAC’ Yelisal usel(l wal

0.
(A) 3 ax
(B) 5 ay
(C) 10 ax{
(O) 7 ay

L elRdl ea¥ Ridla Qawel Raw <

Gwagll s Rad aa d 72

(A) 14l stiorR
(B) 53l A 2r042
(€) 11l stao2

(D) 2% wls2lolR
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9.

10.

1.

What is the full form of ABC, according
to NEP (2020) ?

(A) Academic Bank of Credits
(B) Academic Bank of Certification
(C) Annual Book of Credits

(D) Academic Basic Certification

According to NIRF overall ranking 2023,
which institution ranked one in India ?

(A) iS¢, Bangalore
(B} ISER, Pune
(C) IIT, Madras

(D) 1IM, Ahmedabad

Which of the following diagrams correctly
represents the relationship among tennis
fans, cricket players and students ?

9.

10.

11,

NEP (2020) oit €61 ABC o Y3 oM ¢
®?

(A) ABshls ols wls 35l

(B) AxsMs ols vy udlgliaet
(©) s ofs vlls 3Slan

(D) A¥sMs ADs udl§lBatet

NIRF il 2023cll M HeUlsol
yorol, LMl 5¢ AL YaH sU B ?

(A) NS¢, cloldlR

(B) lISER, Yell
(C) IIT, mat

(D} HIM, i elallE

o1 we stARUHHIl s stauaun
2ollatstt wesl, (B3 w¥ad  wuad
[Qeuellullel Aoicd AlAl 2%y 53 D 2

(&)
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12.

13.

‘Umpire’ is related to ‘Match’ in the same
way as ‘Judge’ is related to

(A) Court
(B} Lawyer
(C) Judgement

(D) Law suit

In question below is given a statement
followed by assumptions numbered | and Il.
Consider the statement and decide which
of the given assumption is implicit ?
Statement : If you want to give any
advertisement give it in newspaper
“X” — Atells to B.

Assumptions : |. ‘B’ wants to publicise
his products.

Il. Newspaper ‘X’ has a
wide circulation.

(A) Only assumption | is implicit
(B) Only assumption Il is implicit
(C) Either | or Il is implicit -

(D) Neither | nor ll is implic}t
!

H
I
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12.

13.

Ay (Pelasd) € A A
(B¥enu) wd Asoudet B Aw {lA
o ‘(au2RAY 58 dlA Asnuda B.

(A) 8l&
(B) aglet
(C) YsLEl

(D) stuelfla ouolcd

o(1A 200 YHHl e [Qeust e
ol | ual il A w3l 8. Qtuollell vusll
5ol otsfl 53 3wt e 56
YRA B 2

@Qeet : % AR RS MBAA WuaAl
ALl Sl dl X} WHOURUA Ui WUR,
A,Ba sd 9.

wew: 1. B disll Wlsse (Geuleet) off
URlt sal Hidtdl L.
I uuotzuat X' A [Qun
URBYAUe (3Ll Ul Sla.

(A) ML WIRRW | % YR B
(B) 1ol rreu 1t o YRld B
(C) ML QU | el QU 1 YR D

(D) tuteu | a&e e 11 aiel
Asuel ol
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14. P,Q, R, S and U are the family members. | 14. P, Q, R, S A U 8 ggolell ueAl B,

P and Q are real brothers. PUA Q W U U B,
R is a sister of P. R4 P ol sda B.
S is a father of P. s A P ol QA B,
U is a father of S. U RS ot e D.

What is the relation between P and U ?

dl Pual U oA g doid Al ?
(A) Granddaughter and grandfather

(A) WA v €lelall

(B) Grandson and grandfather (B) WA A ELELa
(C) Father and son (C) At ual Yol
(D) Father and daughter (D) Mt uA €lsdlall
15. Find the next term of given series. 15. wet sAOUL A udl sl Ace ad
A7T, E12Q, 9L, ___ o el
A7T,E12Q, 19, ___
(A) M28E (B) M25E (A) M28E (B) M25E
(C) M24C (D) M29E (C) M24C (D) M29E
16. Which of the following are a web 16. ollAatl Ul sl Aot UEHR B ?
browser ? 1. HSHRAse B

1. Microsoft edge
2. JIlA 811

2. Google chrome
3. Mozilla firefox 3. Woflewl sl
4. Opera 4. W2
5. Safari
5. UsLdl
Choose the correct answer from the ) )
options given below. Al Qseuisdl Ao Grir U
(A) 1,2,3and 4 53,
(B) 1,2, 4and5 (A)1,2,3ua 4
(B) 1,2, 4 e 5
(C) 1,2,3,4and5 (C)1,2,3,4 A 5
(D) 1,2,3and 5 D)1,2,3ua 5
Paper — | 7 00




17. Which of the following are used in

video-conferencing ?
1. Google Meet

2. Microsoft Team
3. Cisco WebEXx

4. Skype

5. Zoom meeting

Choose the correct answer from the

options given below.
(A} 1,2,3and5
(B) 1,2,4and 5
(C) 1,3,4and 5

(D) 1,2,3,4and 5

18. The first page of website is called
(A) Main page
(B) Home page
(C) Front page

(D) Open page

Paper - |

17. ol Aott VA s2u £221 UA BcA
(B Q911 (conferencing) Hi quz2L B

1. e Hle

2. HISsAse En
3. 28l Qdsy
4. wadl

5. M Hldlat

?

AL @Aseldigll Do G2 uiie

52l

(A)1,2,3%a 5
(B)1,2,4ua 5
(€)1,3,4ua 5

D)1,2,3,4ua 5

18. dolAUS2ell YAH Ulelial 53 B.

(A) vl We]
(B} 3)& e
(C) vdtaef wiej

(D} vicef Wi
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19.

20.

Given below are two statements :

Statement — | : SWAYAM stands for
study webs of active learning for young
aspiring minds.

Statement - Il : All MOOCs on the
SWAYAM portal are credit-based
MOOQOCs.

In light of the above statements, choose
the correct answer from the options given
below :

(A) Both Statement | and Statement 1l
are true

(B) Both Statement | and Statement li
are false

(C) Statement | is true but Statement I
is false

(D) Statement | is false but Statement I
is true

Given below are two statements, one is
labeled as Assertion A and the other is
labeled as Reason R.

Assertion (A) : ‘Router’ is considered as
both input and output device.

Reason (R) : ‘Router’ can send data and
receive data at the same time,

In light of the above statements, choose
the correct answer from the options given
below :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A} is true but (R) is false
(D) (A) is false but (R) is true

Paper —|

19. (1A A Quel 2Ael B.

20.

Qutet | : 223 (SWAYAM) R @Sl
Aot AWy Asdld aollot §2 2o
Auadlol WS o ¢5 3u .

@tuet Il : Ay (SWAYAM) Ulee UR
Guaskl oltdl ¥ 4§ (MOOCs), sSle-
Agxs ys (MOOC) B.

Gudsd Quusllon ded oA e
@scnigll 20a Geiz ude 53U

(A) olal [@tuet | wa [Quuet 11 AL B
(B) visl [Qtilol | AA [Auet 11 vl B
(C) Quuot | ALY B Uz Quetll Vg D

(D) @uitet 1 W1E B U [Qruet 1Y
®

(A A Quiel el &, Asa Qs
A ua ollma sizel R dfld otlelust
s2¢ B,

Quiet (A) : RAGRY o Helye el
u12y2 GuswWl 58 s,

SIRRL(R): RAG2’ Al gy uMA Wl

Wscll 243 B ol MRl wind 53 ud

8.

Gudsd Quuelleit Aed oA A

@Qscduiegl Aot Gz udie A

(A) ¢ (A) = (R) UL B ual (R) A (A)e
2152 Aedlsa B

(B) 6l (A) A (R)auu D UG(R)A (A)]
Ao 2undlsw «tell

(C) (AU B uq (R) vl ®

(D) (AW B udq(R)UY B
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21.

22,

23.

Teaching at higher education should
avoid the approach of

{A) Covering every bit of content step by
step in the class

(B) Guided learning and self learning

(C) Motivating learner, use of self ieaming
and lectures on difficult content

(D) Combination of self learning with
digital platform based teaching

In Discussion method of teaching which
type of questions have limited role ?

(A) Higher order questions
(B) Yes-no type of gquestions
(C) Hypothetical issue related guestions

(D) Critical awareness related questions

Which of the following set belongs to
teaching ?

(A) Instruction, scientific inquiry, case
study, brainstorming

{B) Preaching, case study, brainstorming
and indoctrination

(C) Brainstorming, preaching, surmons,
instruction

(D) Tutorial, case study, brainstorming,
indoctrination

Paper - |
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21,

22,

23.

A

G Rl Raweel u@aH 2nd

AUl ?
(A) WL dolsstarR s [@Avadrda
Uil A B

(B) WleRld Rlag wa aBlaw

(C) MuetirA WellRct 524,
raRlagell Guallol u yodet
@Quateard Uz wauel

(D) Slweat A28l R Qe 0l
rl@agl] dallyet

Rlewell uul ualdmi su ysizeu
uslell st HalRd Sa D 2

(A) Gy A8 sl

(B) &l-oll UsLalt usl

(C) weguilld yeL AciBd sl
(D) ¥Ret o[ Asi@ct yal

ellAettuiell s2l wys Rawell d 2

(A) YUoll, dsulls dw, 3u 29,
Yol

(B) Bugal, 3y w29l saud ua
ol sauacuedl (Bau

(C) H¥et, UL, unlet, YAl

(D) eyldlac, 3y wesl, Hstat,
Meltl salleieuddl Bay
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24,

25.

26.

Which of the following set of variables

of learner largely influence the learning

outcomes ?

(A) Motivation, comprehension, gender,
cognition

(B) Study habit, religion, motivation,
socio-economic status

(C) Religion, socio-economic status,
vocabulary, cognition

(D) Cognition, study habit, comprehension,
motivation

Characteristics of teaching as profession
does not ensure

(A) Having a code of conduct
(B) Freedom to work independently
(C) Good earning and family life

(D) Freedom of research and student
counselling

Which of the following are Sustainable
Development Goals (SDGs) ?

1. Clean water and sanitation

2. Deforestation

3. Climate action

4. Quality education

5. Affordable and clean energy

Choose the correct answer from the
options given below :
(A) 1,3,4and 5
(C) 1,2,3and 5

(B) 1,3and 5
(D) 1,3and 4

Paper - |
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25,

A

ol Aotl UGl UYe Meteud 2fuiatelt
uRowila veuldd s2 8 2

(A) D20, Uy, A, A

(B) vealdsll uEd, wai, Y2eu,
UHUBs 2065 RARQ

(©) wil, aeulBs 2lEls RAR,
stegelSlo, Ansala

(D) uMwAUG, veAel BUEA, AU,
DELE]

cacauad diy Raweel cua@sdl
YRR scll o2l

(A) BUARABA uad B
(B) 2t dla s selioll et
(€) Wl suiell uA slglls et

(D) A tuotell racotct wa Qenelle
wAngl

26. o(lAetl UGl seli 2516 [@Astuet LAAL D 2

1. 22w oo WX WAL
2. dotoliof€l

3. yalazella sl

4. ojlciriiyjsd Blaw

5. udd dcl ua 2ty G

AN @scldiell Aa G UdE
52

{A)1,3,4ua 5
(C)1,2,3ua 5

(B) 1,3 ua 5
(D) 1,3 ual 4
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27. Match the following and choose the
correct option given below :

G20 Presidency Nation
year
l. 2022 a. Brazil
If. 2023 b. India
HI. 2024 c. South Africa
IV. 2025 d. Indonesia
1 0 m w

(A)d b ¢ a
B)d b a ¢
C)a b ¢ d

Db ¢ d a

28. Recently in February — 2023, a large
lithium mineral reserve was found in
which State 7

(A) Jammu and Kashmir
(B) Guijarat
(C) Jharkhand

(D) Bihar

Paper — | 12

27. o(1A wlel Qs Aada w2

@Qseu uaie sl
G20 YHWUE oy A

l. 2022 a. giBet

I, 2023 b. euRd

. 2024 c. WY wlzst
IV. 2025 d. gosla@tan

L nom w

(A)d b ¢ a
Byd b a ¢
(C)a b ¢ d

Db ¢ d a

28. dl¥dui, joudl 202341 seul AU
QRN welley A weld ol el B2

(A) ¥1y a siedlR
(B) %A
(C) MRS

(D) [Gl&1R
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29,

30.

Which of the following cyclone has
affected the east coast of India in last
few years ?

1. Cyclone Biparjoy
2. Cyclone Fani
3. Cyclone Taukte

4. Cyclone Amphan

Choose the correct answer from the
options given below :

(A) 1,2and 3 (B) 1and 3

(C) 2and 4 (D) 1,3and 4

Given below are two statements, one is
labeled as Assertion (A) and the other is
labeled as Reason (R).

Assertion (A) : Air Quality index (AQI)
of City-X is 257, while that of City-Y is 65
in the month of August — 2023.

Reason (R) : City-X is more air polluted

than City-Y.

In light of the above statements, choose

the correct answer from the options given

below :

(A) Both (A) and {R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R} is true

Paper - |
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29.

30.

A

o(lAetl WS sl cllct RSN Becll d2eus
aldi ellrdell Yyd d2a yelld
sal &7

1. cleuil§ uena
2. cldlA§ gtell

3, A ubsa

4. AUALA§ iU get
el Qs uiell 200 Grir UiE
53

(A) 1,2 ua 3
(C) 2 v 4

(B) 1 ual 3
(D) 1,3 v 4

o1 A @Quell el B, 35 o (Quet
A A ol s1a R dfty elliifltuet
s D,

Ruuet (A): 200122 - 2023u1 23R X ol
A2 sAlAd] 038 (AQl) 257 B, wAR
32 Y «ll AQI 65 B.

SIBL(R) : % X A AdR Y sl Ay
ag uglla .

Guisd [Qtucllet A, «{lA wen
Qscdluigll 2002t 6 ude s

(A) 6ial (A) mal (R) WAl B wa (R)l(A)d]
oy Wwdlse B

(B) ¢lal (A) el (R) Ll B U (R)A (A)e]
o2 Adlsw atell

(C) (Ayuuy ® uiq(R)ulg ®
(D) (A)ullg B ud (R)auy &
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31.

32,

33.

Scientific method of research involves
the process of

(A) Induction
(B) Deduction
(C) Indo-deductive method

(D) Contemplation

Snowball sampling method

(A) Is most preferred technique during
survey method

(B) Provides representative sample for
experimental study

(C) Is suitable to identify sample from
unknown population

(D) Use rolling ball machine to get
random sample

Which of the following is the correct

statement of historical research ?

(A) Itis not a scientific inquiry

(B) The extrinsic data validation is
assumptive

(C) Thefindings are subjective o a great
extent

(D) Reveals past with no contribution to
future

Paper - |

31.

32.

33.

Usltiotell dsills ualQul yRBaued
AMLASL Al B,

(A) Bo5 590l
(B) $lssalal

(C) 8ol-Slsséla ugld
(D) Rt

wllollet otyoll usld

(A) udae usld et Alel ay
UAEeell casells B

(B) WRlBls e W2 URARRA o3yt
UElel 52 B

(C) Vsl yHfRUi 3ou vlawicn
2 A B

(D) RwsM etiell Andcw w2 Al ol
H2lleotoll Guallol

ARsI@s Aalua 2 ol Aounioll sy
Quuet iy d 2

(A) A dsilels du ol
(B) oitgl MR HoAcl A B
(C) cuell 2l yneHl cabacal ®

(D) e@aul 8¢ Aotelet @Qott
Qaslna Yol 52 8
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34.

35.

36.

-~

Which of the following is a discrete
variable ?

(A) Human 1Q score
(B) Human height
(C) Number of human beings

(D) Human weight

Which of the following statement is true
for Swayamprabha ?

(A) They are MOOCs and certified for
credit consideration by universities

(B) They are educational programmes
under direct-to-home

(C) One has to pay to subscribe the
programme

(D) They are focussed to the course content
from 1 standard to 12" standard

Ravi travelled 4 km straight towards
South. He turned left and travelled 6 km
straight, then turned right and travelled
4 km straight. How far is he from the
starting point ?

(A) 8 km
(B) 10 km
(C) 12km

(D) 15 km
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34.

35.

36.

o(lActimiell 520 UL U B?
(A) HeRtell offs s

(B) Hialo{l Qe

(C) Madle{l dvau

(D) MIRAlef el

redivel M2 o{lAoimiell 5y (Quet
UY B ?

(A) & 45 (MOOC)® ua RQulaaa
gl 342 Wt w2 wdd ®

(B) A sla¥se 2-8u icold Aalls
slsil ®
(C) stelsilal el M2 YsaR] 54 ud B

(D) A1 el 12 wlR\tett BEAUSHL UR
t2llel Y B

A @ drg 4 Bl AUl yausdl 52
®. A stoll s adfl ua 6 Bl AL
yasdl 53 8, udl wHell dg an B
uAA 4 Bl A yausdl 53 B A A

a3ullctell RAAN 32l g2 69 7
(A) 8 (33{l

(B) 10 31
(€) 12 3
(D) 15 (&3l
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37. The following diagram shows the number
of students who got distinction in the
subject out of 500 students.

T
\,

What is the percentage of students who
got distinction only in two subjects ?

Chemistry

(A) 6%
(B) 8%
(C) 10%

(D) 12%

38. Acartravels 25 km at a speed of 25 kmh,

next 25 km at a speed of 50 kmh and the
next 25 km at a speed of 75 kmh. What
is the average speed of the car ?

(A) 64 kmh
(B) 50 kmh
(C) 46 kmh

(D) 41 kmh
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37. oA Al 25, s00 (Qenlxdnuisl
Quani QAW Q%A Ul SR
Qeuelael dven eada ®.

clllds (Qste

oA

[ 42
e (F

o o Ay , QAN aloadl wind
s2el12L [Qauellael esicudl 3ecll ® 72

(A) 6%
(B) 8%
(C) 10%

(D) 12%

As Wle: 25 Bblsals ol »sU 25 (Bl
yusdl 52 8, udleu 25 (30l

50 Buliseus wd w@AM 25 Bl
75 (Bulysclls ol 35U ywsd 52 B, Al
2ol ud2ne sy d2cll ® 2

38.

(A) 64 Bxyscus
(B) 50 (3x{lscus
(€) 46 BulUscus

(D) 41 BUscus
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39. The quarterly sales of a particular mobile | 39- @ 2023u1 Y2t A A et
wuys HMoudde] wduRs Aawg 1A

in rural and urban areas during year 2022
Yol 8.

is as follows :

Area Sales in 100 units Qa2 100 3Yleleo] Auiay

Q1 QZ 03 04

Q Q Q Q

1 2 3 4

AL
Rural 30 o5 40 35 30 25 40 35

Urban | 44 60 40 20 wdR | 40 60 | 40 70

\ghgt is the percentage of sales during dl Q, Hi Quell 2staudl decll d 2
5 7
(A) 20.5% (A) 20.5%
(B} 25.0% (B) 25.0%
(C) 23.5% (C) 23.5%
(D) 30.9% (D) 30.9%
40. Given the following data : 40. o1 W wcl 8.
22 26 18 15 30 22 26 18 15 30
20 16 22 24 25 20 16 22 24 25
38 36 28 26 25 38 36 28 26 25
40 34 36 20 22 40 34 36 20 22
What is the percentage of observation UR2AA 8L ALedL U clelsail ol 2stadl
below average ?
decl ® 2
(A) 40%
(A) 40%
(B) 45% (B) 45%
(C) 50% (C) 50%
(D) 60% (D) 60%

Paper — | 17 00



Direction Q. No. 41 to 45 : Read the following
paragraph and give the answers of questions
given below the paragraph.

You have studied that elemental oxygen
is found in the atmosphere in the form of a
diatomic molecule (O,). However, in the upper
part of the atmosphere, oxygen is present in
its triatomic form called ozone (O,). Ozone
forms a layer at a height of 15-60 km in the
stratosphere. The ozone levels are low over or
near the equator and high near the poles.

Ozone is a highly reactive form of molecular
oxygen and is poisonous for us. But we
are protected from its harmful effects as it
is unstable near the surface of the earth.
Further, ozone protects the biosphere from the
harmful ultraviolet radiations. It fitters out the
radiations coming to the earth and maintains
the temperature of the earth.

Over the last few years, it has been observed
that ozone layer is thinning out because of
the excessive use of chlorofluorocarbons
(CFCs) by human beings. Once considered
as miracle compounds, CFCs were being used
as propellants in aerosols and as coolants for
refrigerators and air conditioners. But now, they
are considered harmful compounds as they
are stable, do not degrade by any biological
process and harm the protective O, layer by
reacting with O, molecules.
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QAT w4145

oA WA $5A cidl Al A WA
yallell wellol 3.
Al weAr sAl B 3 clRts wW(Buewel

clclaR@Mi [Bunugtellan wy (0, el
UMl olai MO B, %lF dldidRWtell
GURell aotHl MBuwel Aetl glalis
AAIUHL 8lUWR & Fal WllMet (0,) sl
8. Al UHAM ALY 15 - 60
Galell GUSA As 2 Wetld B.
WAoto] 2 [QAyecget U waal dell
s ofly B wa Yol atws QY B.
WAt WASYAR WUBUolo] Rl
ulABauslict 2c3uU B wa A due M2
BN B, Uiq wud Aol slAses
UAAL YAt R s12@ ¥ A yeclloll
AUl olws URAR BD. ayul vt
ste(lsies woiolcll [S2elwoiell ol
R¥auRq] 8@ 53 B. A yecll uR wddl
AAsgtotal WA B 2 Yeellof UM
macll AW B.

el decua oMl Ad wlaunl
wWe] B ¥ el sAlRAsARAsclet
(CFCs) oll dY UScl Gualdal s28
Ao el W] U W B, AsalR
AUHIRSs  dAwell ¥ owetauni
vllelcdl CFCs oll Guallot WUA-2 ddl}
AAAMAH waA Wpwded  wa
ABB AT w2 lldas Ay scuni
Al &dl, Uq &d A} sllsIzs
VAol HielalMi 20 B sy Al
AR B, sdue ¥Q@s uBal ax
WA scll otel wa 0, UM
WA uABa sda eRuMs 0, A
afsotlet uglud B.
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41.

42.

43.

The ozone levels is low at
(A) Equator

(B} Poles

(C) Both equator and poles

(D) Neither equator nor poles

Ozone means

(A} A triatomic form of oxygen
(B) Diatomic molecular
(C) Elementary oxygen

(D) Carbon dioxide (CO,)

Ozone is a molecular oxygen which is
{A) Neutral

(B) Inactive

(C) Non-poisonous

(D) Highly reactive
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W Alete] R sl o3 & B2
(A) [AYyagd

(B) Yl

(C) @Yy aqgd vl Yell oisl uR

(D) @yagd ugt «tél val Yl ugl ol

WA AeA

(A) WEAYA] AUl 23U
(B) sill2l@s wwalds
(C) cilts wER%t

(D) slolel stlsUES (CO,)

WAt A s welaly
(molecular oxygen) g %

(A) 2 B

(B) % B
(€) @AAR &

(D) vjol o uBEA B
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45.

46.

Ozone protects biosphere from

(A) Clouds and acid raing
(B) Ultraviolet radiations
(C) Pollution

(D) Cyclone

The reason for thinning of ozone level
(A) Excess use of O,

(B) Release of CO,

(C) Excessive use of chlorofluorocarbons

(D) Excess release of carbon monoxide

A mixture contains sugar solution and
colored water in the ratio 4 : 3. If 10 litres
of colored water is added to the mixture,
the ratio becomes 4 : 5. What is the initial
quantity of sugar solution in the given

mixture ?

(A) 8 litres
(B) 10 litres
(C) 20 litres

(D) 25 litres
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46.

ALl Wl (biosphere) 288
AW B,
(A) Al waA RS cRuLE]

(B) mcglalA@e WlAael (uRsinell
d2o0) ol

(ORI

(D) Aasclat(clctRg) &t

Aot 2clel UlcloUl Aclls] SIRQL.
(A) AEAxet (0,) oll Ay GUDDL

(B) Slolet SLIASUES (CO,) of Yal Usq
(Geofot)

(C) sclRAscyR slolodiell cuz Guallat
(D) stolet HloRsUESall Al Geofol
(el usd)

As Maui wisel well ux 230
wiellell ofRlixiz 4 : 3 B. %l s
10 (@22 23{let wiell GNRaml A d
Jelvi 4 :5 WA B, dl wWilel

st wisell wielle wauet d2e 4 -

(A) 8 @ez
(B) 10 [@e?
(C) 20 [@e?

(D) 25 @e?
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48.

Three friends P, Q and R started a
business, each investing Rs. 10,000.
After 5 months, P withdrews Rs. 3,000,
Q withdrews Rs. 2,000 and R invested
Rs. 3,000 more. Atthe end ofthe yearatotal
profit of Rs. 34,600 was recorded. Whatis
the share of P, Q and R respectively ?

(A) 10,600, 9,900, 14,100
(B) 9,900, 10,600, 14,100
(C) 14,100, 10,600, 9,900
(D) 10,600, 14,100, 9,900

Five ships J, K, L, M and N are to
be unloaded on 5 consecutive days
beginning from Monday to Friday.

}. Each ship takes exactly one day to
unload.

li. K must be unloaded on the day
preceding the day on which Mand N
are unloaded.

lll. L cannot be unioaded on Tuesday.

IV. M is the second ship to be unloaded
after J is unloaded.

if M is unloaded on Friday, which one of
the following is true ?

(A) Jis unloaded on Wednesday

(B) K is unioaded on Tuesday

(C) Lis unloaded on Monday

(D) N is unloaded on Thursday
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47.

48.

A

ael MAL P, @ Ul R €35 10,000 3/ o
Astal 53 As U A3 53 B, 5 el
ugl P 3/- 3,000 ¥ Q I- 2,000 Gwd
8. AR R dYy 3/- 3,000 f JAsEL 52 B.
ol s aell wA 3/- 34,600 A <18l

udl 82 Al P, Q el R ol (322l 32cll
& ?

(A) 10,600, 9,900, 14,100

(B) 9,900, 10,600, 14,100

(C) 14,100, 10,600, 9,900

(D) 10,600, 14,100, 9,900

WA sl JKLMBAN o
WuHarAl 243 sl ysar Yului,
sHloAIR 5 R adlul wicll sl B,

[ €25 asl@ wild s2cunl s

(Bau s o,
.M ut N o W@ s:clal As

Rax udal K a vl sauq B,
. L A donark well s asi

otél.
v. M 3 J ugl viell aour olly

asel 8.
ol M ol gsaiR wicll sl

ulcy gl dl (lAudl 53 w3 B 2
(A) J o otic? wiell sl wice) &

(B) K o xotna? wicll seunl
ulcR] &

(C) L ot MR WAL sl wllcR] B

(D) N & 9]3cli? wicll sRauui wie] B
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49. If + means x, —means +, xmeans +and | 49, ¥l + ofl W x, — oll WY +, x ol AW =

+ means —, then the value of ol = ofl WA, Sl AN 6-9+8%3+20
6-9+8x3+20is aq yeu

(A) -2 A -2

(B) 6 (B) 6

(C) 10 (C) 10

(D) 12 (D) 12

50. Three positions of the same dice are | 50. As ¥ WAlell AL RAR 1A 2l B,

given below. Which number will come in x ofl WA s2Al vis w9l ?
place of x ?
: 3 1 1 3 4
3 4 X
6 5 2
6 |3 5 |4 2 |
(A) 1 (A) 1
(B) 3 (B) 3
(C) 5 (C)5
(D) 6 (D} 6
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